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Directions: Describe the sequence of transformations.‘
‘
‘


[image: ]3)  					4)  (x, y) → ‘’(y, x – 3)			     6)

					5)  A(3, 2)  A’(5, 2) → A’’(2, 5)
					     B(–2, –1) → B’(0, –1) → B’’( –1, 0)   








	

		 

SET Y

1)  If A(3, –2) is reflected over the x-axis and then translated 3 units left, what is A’’?

2)  If B(4, 5) and C(–2, –1) is transformed to B’(5, –4) and C’(–1, 2), what transformation has occurred?

3)  If R’(–3, 1) has been translated using the rule (x, y) → ‘(x – 3, y + 2), what is the pre-image, R?

4)  If M(4, –2) and J(–3, 1) is horizontally shrunk by a scale factor of ½, what is J’?

5)  What line has A(3, 5) reflected over if A’(3, –3)?



SET Z

1)  What is A’ if A has been dilated by a scale factor 		2)  What is B’ if B has been rotated 90ᴼ CW about
[image: ][image: ]      of ½ about the center (–2, 1)?				       Point A?
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3)  In the figure to the right, what is the scale factor 
      of dilation in this graph?		

			
4)  In the figure to the right, what is the center of the dilation?






5)  A segment has vertices at G (6, 7) and H (3, 2). Which transformation would produce an image with 
     vertices G’ (-6, -7) and H’(-3, -2)?

6)  A triangle has vertices at A (-2, 2), B (-1, 2) and C (-1, 4). Which transformation would produce an image with 
     vertices A’(-6, 2), B’(-3, 2) and C’(-3, 4)?
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27. Determine if the following conjecture is valid by the Law of Detachment.
Given: If Sue finishes her science project, she can go to the movie. Sue goes to
the movie.
Conjecture: Sue finished her science project.

28. Use the Law of Syllogism to draw a conclusion from the given information.
Given: If one angle of a triangle is 90°, then the triangle is a right triangle. If a triangle
is a right triangle, then its acute angle measures are complementary.
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1. For the conditional “If two angles are supplementary, the sum of their measures is
180°,” write the converse and a biconditional statement.

2. Determine if the biconditional “Vx = 4 ifand only if x = 16” is true. If false, give a
counterexample.
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Identify the property that justifies each statement.
6. mZXYZ = mZPQR, so mZPQR = mZXYZ.
7. AB=AB
8. Z4= LA, and LA = ZL). S0 L4 = L.
9. k=7,andm=7.Sok=m.
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Find each angle measure.

1. 2. - (15x =7 3.

135°, o (54x + 13)°

(19x = 15)°
(43x + 36)°
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9’ @ Proving Lines Parallel

Use the given information and the theorems and postulates

you have learned to show thata || b. > '3 8 7
4. ms8 = (13x +20)°, mL6 = (7x +38)°, x =3 Y5
5. Z1=45 ‘ L
6. mZ8 + mZ7 = 180°
7. mZ8 =ms4 -

8. The tower shown is supported by guy wires such
thatmZ1 = (3x + 12)°, m£2 = (4x - 2)°, and
x = 14. Show that the guy wires are parallel.

9’@ Perpendicular Lines g gk

O Nama the echartoct cammmont .
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9. Name the shortest segment
from point Kto LN.

10. \Write and solve an
inequality for x.
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Apply the transformation M to the polygon with vertices A(S, 2), B(-3, 4), and C(-1, -6). Identify
and describe the transformation.

LM ()= (x=2y+3)
2. M:(x,y) = (x,=y)
3. M:(x,y) = (-3 x)

4. M:(x,y) — (3x,3y)
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Find each angle measure. 5

5. msM
(151 =2y°

M n M
C

6. mZABC
< 5 (20x = 15)°
D

Sx’ 8 A
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Given: AJKL & ADEF. Identify the congruent corresponding parts.
7. =_1

8. DF=_ 1
9. LK=_ 1
10. LF=_ 1

Given: AABC = ACDA. Find each value.
M x 8 C

12. CD 15-2y 3y 41

(2x = 3)°




image13.png
13. Given: 4B || CD,AB = CD, AC = ED,

ACLCD,DBLAB
Prove: AACD = ADBA

Proof:

1. A8 || D

2. LBAD = LCDA
3.ACLCD, DB LAB

4. LACD and £DBA arert. A

P 4

. Rt. £ =Thm.

. Third & Thm.
.g._?

. Reflex Prop. of
Li.__?

1.
2.
3.
4.
S,

6.

7
8
9
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2. Given: JRbisects ZMJN. M] = NJ
Prove: AMJK = ANJK

,%K

N
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7. Given: CD || BE,DE || CB b E
Prove: ZD = 4B
C 8
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Find each value.
9. msC E 10. ST

8 -4w 2w+S
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11. Find ZV, PM, and mZRZV 12. What s the distance XZ
in AJMP. across the pond?
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A pantograph s used to copy drawings. Its legs form a
parallelogram. In OOJKLM, LM = 17 cm, KN = 13.5 cm,
and mZKJM = 102°. Find each measure.

1. KM 2. K 3. MN
4. mZJKL 5. mZJML 6. mZKLM

7. Three vertices of CJABCD are A(-3, 1), B(5, 7),
and C(6, 2). Find the coordinates of vertex D.

WXYZ s a parallelogram. X
Find each measure. (Sa = 39)°
8. WX 9. YZ 6b-7

32 +20)°
10. mX M. maw w2 1,
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@' E Measuring and Constructing Segments <2_}_4.f_§_4_§_z_+_;_¥>

Find the length of each segment. =42 'z," 12 08 8

-15
1. 5V 2. TR 3. 5T
4. The diagram represents a ax+6 9
straight highway with three H J K
towns, Henri, Joaquin, and 3

Kenard. Find the distance
from Henri H to Joaquin J.

5. Sketch, draw, and construct a segment congruent to CD. < D
6. Qis the midpoint of PR, PQ = 2z, and PR = 8z — 12. Find z, PQ, and PR.
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Determine if each quadrilateral must be a parallelogram. Justify your answer.
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The flag of Jamaica is a rectangle with stripes along the diagonals. Q
In rectangle QRST, QS = 80.5, and RS = 36. Find each length.

18. sp 19. QT 20. TR 21. TP I
GHJK Is arhombus. Find each measure. G221 .y
22. H] 1249 T A
23. mZHJGand mZGHJ if mZJLH = (4b - 6)° h )

Q

and mgJKH = (20 + 11)°

24. Given: QSTVisarhombus. PT=RT p R
Prove: PQ = RQ S
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Find the length of each segment.

10.5T P - Q 11. ABandAC

12 16
R s A

1

4y -1
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2. Find NP.
P

M

@ NP=1
@ NP=125

a np=16
D NP=2
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A video game designer is modeling a tower that is
320 ft high and 260 ft wide. She creates a model
so that the similarity ratio of the model to the

tower is ?36 What are the height and the width

of the model in inches?

@ height = 0.64 in.; width = 0.52 in.

(® height = 3840 in; width = 3120 in.

@ height = 7.68 in.; width = 6.24 in.

@ height = 160,000 in.; width = 130,000 in.
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Tell if the measures can be the side lengths of a triangle. If so, classify
the triangle as acute, obtuse, or right.

7. 9,12,16
8. 11,14,27
9. 15,3.6,3.9
10. 2,3.7,4.1
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Find the values of the variables. Give your answers in simplest radical form.
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2. Find the value of x. Express your answer in
simplest radical form.

14

@ x=1 @ x=2/65
@ x=2V33 D x=12V11
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Find the value of x. Express your answer in
simplest radical form.

@ x=3\§ @ x=3V3
@® x=95 @ x=5V3
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4. The length of the hypotenuse of a right triangle
is three times the length of the shorter leg. The
length of the longer leg is 12. What is the length
of the shorter leg?

@ 2V3 @ 3vz
@ Viaa D 6V2

S. What is an expression in simplest form for the
perimeter of the 30°-60°-90° triangle shown?

xm 4
22
@ 2+22V2 © uV3

@® 33+22V3 @ 33+1V3
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Classify each angle by its measure. il

8. mZPVQ =21° 9. mZRVT = 96° 10. mZPVS = 143°
11. RS bisects ZQRT, m£QRS = (3x + 8)°, and mZSRT = (9x - 4)°. Find m£SRT.
12. Use a protractor and straightedge to draw a 130° angle. Then bisect the angle.
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Find each length. Round to the nearest hundredth.
7. QR 8. AB
P A

Win. sm
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Find the unknown measures. Round lengths to the nearest hundredth and angle
measures to the nearest degree.

10. A M. H J 120X nY
22 7 105 S
c ] K z

13. The wheelchair ramp at the entrance of the Mission Bay Library has
aslope of l'—,. What angle does the ramp make with the sidewalk?

Round to the nearest degree.
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(8 Angles of Elevation and Depression

14. An observer in a blimp sights a football stadium at
an angle of depression of 34°. The blimp's altitude
is 1600 ft. What is the horizontal distance from the
blimp to the stadium? Round to the nearest foot.

15. When the angle of elevation of the sun is 78°, a building
casts a shadow that is 6 m long. \WWhat is the height of
the building to the nearest tenth of a meter?
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AABC is reflected across the x-axis. Then its
image is rotated 180° about the origin. What are
the coordinates of the image of point 8 after the
reflection?
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, A designer used the translation
(xy)— (l + 3, y - 3) to transform a triangular-
shaped pin ABC. Find the coordinates and draw
the image of AABC. Which point is a vertex of
the image?
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Determine if each conditional is true. If false, give a counterexample.
24. Ifan angle is acute, then it has a measure of 30°.
25. If9x—11=2x+3,thenx=2.

26. \Vrite the converse, inverse, and contrapositive of the statement “If a number is
even, then it is divisible by 4.” Find the truth value of each.




